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Grade 4 Math Worksheet: Subtraction (Difficulty Level: Advanced)
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Part 1: Subtracting Large Numbers
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. 234,985 - 123,478 =
. 918,547 - 657,234 =
. 163,732 - 87,591 =
. 942,850 - 599,214 =
. 537,764 - 421,506 =

851,604 - 390,248 =

. 829,156 - 37,684 =
. 829,048 - 531,762 =

969,345 - 581,942 =
105,936 - 47,258 =

Part 2: Word Problems Set

Read the word problems carefully and solve them:

1.

A factory produced 789,012 items last year and 567,890 items this year. How
many fewer items did it produce this year compared to last year?

A city had a population of 987,654 people. Due to migration, 345,678 people
moved out. What is the new population of the city?

A farmer harvested 876,543 kilograms of wheat but sold 456,789 kilograms. How
much wheat does the farmer have left?

A library had 654,321 books. After donating 123,456 books to another library,
how many books remain?

A company's revenue last year was 567,890 rupees. This year, the revenue
dropped to 234,567 rupees. What is the difference in revenue?

A sports stadium had 789,012 tickets available for a match. 678,901 tickets were
sold. How many tickets remain unsold?
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7. A warehouse stored 890,123 items. It shipped out 345,678 items. How many
items are left in the warehouse?

8. A school's annual budget was 876,543 rupees. After spending 456,789 rupees
on new equipment, how much money is left in the budget?

9. An amusement park attracted 678,901 visitors last year and 234,567 visitors this
year. How many fewer visitors came this year?

10. A shipping company handled 543,210 packages in the first half of the year. In the
second half, it handled 123,456 fewer packages. How many packages were
handled in the second half?
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